P - E B8 B 2 E A & 2025FEAH B2 " = 2024FEARIER
Sl BB $E| 1] | Bk B E24 - PR (FS - BRY) - | LF fa] = i EC
A 2 |t (X188 R BB s Aoenma S 2P Ee B | DB 27| conenmx muzz|BT| B | T
ARSS sk <§I&‘3 Z> E FIIZ E g éi ﬁix{#'%@m Uhmi(?ﬁ'ﬁfﬁﬁ)‘@ﬁ Ilj EE m 5§ % %:_t)] *EIEE) %ﬁgﬁ %0){‘["_1, %IIJ % %
DR| 5 | % |18E& (EFBRERE) - T Dfth 1B #EE| B =] * |#&B ’ ' e | X
<FEwH > AT L LR = BIRRA - 12 1k =ffE— e T,
X —-FEXAE 8 R=TLEF—v gy |<k> <2> S RS0, k=7 ®)| 6| 13
(R1059) - TORIES (R10( 9.2 | | 10.2 ) o) | [V E YT =2 a 230, T
43— O ET) 2 2 : B Bl = 37
9.13 10.11
—-BXX 6 LR =TARA - B IK=RAEE—MELS, | (16) | 14| 1.1
R=TLE¥vF—av T hY——b504,
(B « DA ) P50, 2R=TLE VT
— ¥ a U504
<1k > <2k >
- —— - 9.2 10.2 . — -
—daxit 3 =g A hi- | C)928 | )T 1040 | 11 | i | Tk= s GiER | ® | 5] 16
B 013 o1 9, WK=2554
IR=HIMLE—F - FL| :
. Yor—var el (1
W)X A )
Y
.
ij’y S 7| “rEmw TR = ERE T - Pt A 1K= WA WL,
1a,(019) 6885560 <REHE> | 15 R=Hsk (31, #9105 | . A+ 30T, 2= [ (1) | 15| 1.0
;%goggggﬁ%% <EBPREE> | 8 cFLEYF—vay (W \92’ 1“02' o0, FLEvF—va Q4] 13] 14
= 105) - TREIS (K104 | ) - 1000l | o5, PRS2
— e, D F
E]HEEKF:EE’-@) 9.13 10.11
BENZ-REHF | 10 Ik =MHEA - i (H IK=AEE—MiEes, |8 | 18] 1.0
1) <1k> <ok UMY —¥— MOH, T
R=TLEvF—av| 02 10.2 . 60, 2k=7L ¥V T
e (MEREAT) | 2 y | 1010 M AR T sg w6
9.13 10.11
< BrEEHI > HOHER TR, HEAR | SHEE « /R - B 04 WIEET), /N
X - HEEXIE 3 HENE /S BLIE 754 WXT04, wEE-4BREERE[ 3| 3| 1.0
—B&X 2 1129 il 1 1] 1.0
— Py .
*i:j‘ij 2o || x| x - | - v 12,14 | 12.20 | @ 8 4 20
- REXE 126
<REHE> 6 . 70 7] 1.0
<BEGREE> | 3 1 1] 1.0




